TRHR0FE—REHINZFESE
(B : [)
#B H20EE F & %8 HIOEEFTEEE B fi& =
1. BEFHIIRA
SBINA 14, 041, 000 13, 761, 000 280, 000
ALLULA 125, 000 125, 000 0[2, 500M3 x 504
ERESBIA 12,916, 000 12, 636, 000 280, 000|14, 000/ x 9204, 4, 000 X 94
HHLBLBINA 1,000, 000 1,000, 000 0{20, 000 x 504t
EEINA 630, 000 600, 000 30, 000
FHESBEILA 430, 000 400, 000 30, 000| & iEFFES - BELSME
BEEEELINA 200, 000 200, 000 O|EHB LY BEEERRE
SHERTEENA 300, 000 300, 000 0
SFLEEIA 300, 000 300, 000 0
WEISUNA 950, 000 900, 000 50, 000
EHNEEGS 350, 000 300, 000 50, 000| B B & U BT EIURF H &
EESEYRE 600, 000 600, 000 0| BEsHK & Y EEREHRS
IR A 2, 050, 000 2,010, 000 40, 000
S EUF BURA 10, 000 10, 000 O|EH - T58 - LEHES
BRSHEREES 2, 040, 000 2,000, 000 40, 000 | MBI {R R £ & U
BAE 0 0 0
— TR 0 0 0
FEFHIMASEH A 17,971, 000 17,571, 000 400, 000
2. BETERH
EEE 7,190, 000 6, 450, 000 740, 000
4 1,900, 000 1, 440, 000 460, 000
23 260, 000 60, 000 200, 000|224 ER &, Lr SEERE
REREE 500, 000 370, 000 130, 000|212, Beakisais
BIEEME 160, 000 150, 000 10, 000| Bt 22 iR Rt S
EHERIE 50, 000 240, 000 A 190, 000
HEHRERE 20, 000 20, 000 0
HERE 150, 000 100, 000 50, 000 |t EE ¢ %
=Lt 300, 000 100, 000 200, 000| &35 Ak =
B i 400, 000 390, 000 10, 000|FFHE £ BT B 4L
we 60, 000 10, 000 50, 000
BESEELE 1, 880, 000 1,810, 000 70, 000
23 100, 000 100, 000 0
MRE RS 300, 000 250, 000 50, 000
BIEEME 250, 000 250, 000 0|t - B8 - B - BEBRE
EHERIE 350, 000 350, 000 O|=MEAR - REZER
T 600, 000 600, 000 O|BEMmE. TEMKSE
B i 150, 000 130, 000 20, 000| B &2 ST AL
*F*%’i 100, 000 100, 000 BT E
30, 000 30, 000 0
230, 000 150, 000 80, 000
50, 000 20, 000 30, 000| AT H L BE
MBI RS 100, 000 50, 000 50, 000| A 25T i MR 58
EHERIE 70, 000 70, 000 0
W 10, 000 10, 000 0
HEMEEXE 350, 000 350, 000 0
23 50, 000 50, 000 O|R®EES. £EHE. h—LR—C
MBS EE 100, 000 100, 000 O|R®EES. £EHE. h—LR—C
BIEEME 50, 000 50, 000 0
EHERIE 30, 000 30, 000 0
HEHRERE 50, 000 50, 000 0
HERE 20, 000 20, 000 0
HeE 50, 000 50, 000 0




HB H20FEFHEE HI9OEEFHEE 1R & %
SRETEXE 1. 420. 000 2,220, 000 A 800, 000
RiE 100, 000 100, 000 O|LEREN =
REXBE 200, 000 200, 000 O|LEREb =2
BIEERE 500, 000 500, 000 0| =2 —RARE - RIEH
EHENRE 600, 000 1, 400, 000 A 800,000 =1 —RANPE - KMEW
HEMLE 10, 000 10, 000 0| BEEHK
HE 10, 000 10, 000 0
BNEEXE 200. 000 200, 000 0
REXEE 90, 000 90, 000 O|XEHFE
ECE-3 20, 000 20, 000 0
HEHE 20, 000 20, 000 0
XEE 50, 000 50, 000 O|MESHE
REE 10, 000 10, 000 0
HE 10, 000 10, 000 0
ik pop EE 34 1.210. 000 280. 000 930, 000
RiE 50, 000 30, 000 20, 000| =HFFAIER R - MTRRTEES
REXEE 120, 000 80, 000 40, 000 (EHAFAIER R - ETHRITRES
BIEERE 20, 000 20, 000 0
EHENRE 900, 000 30, 000 870, 000 (S & EE 51T
=L 50, 000 50, 000 0
HEHE 50, 000 50, 000 0
REE 10, 000 10, 000 0
HE 10, 000 10, 000 0
ETHE 5, 035, 000 5, 555, 000 A 520,000
HEEEE 1. 220. 000 1, 240, 000 A 20,000
RiE 130, 000 100, 000 30,000 =& & R=HE. BERF
REXEE 600, 000 600, 000 O|=REREE. BER. KRERE
BIEERE 80, 000 80, 000 O|FBEEEFHE
EHENRE 250, 000 250, 000 OFERE. KR
HEARGERE 30, 000 30, 000 0
HERE 10, 000 10, 000 0
=L 100, 000 150, 000 A 50,000 #3215 AME
M 20, 000 20, 000 0
=HKE 1, 150, 000 1, 150, 000 0
BHFLE 1,100, 000 1,100, 000 0|FHEHKE
ECE i 0 0 0
EAIELE 50, 000 50, 000 0ERE
EEE 2, 665, 000 3. 165, 000 A 500, 000
=L 1,100, 000 1,100, 000 0| = 75T
SEKE 100, 000 150, 000 A 50,000(ER. #HR. Ki#
=% 420, 000 350, 000 70,000(0 E—#
BIEERE 600, 000 600, 000 O|EHAESRE. U1F. BFE. RAHF
EHENRE 150, 000 150, 000 O|=MIK. SEBZEE. 2R, FEKRE
HEARGRE 50, 000 600, 000 A 550, 000(PCEH
HERE 100, 000 100, 000 0
ECE3 5, 000 5, 000 O|FTR=E
RERH 80, 000 50, 000 30, 000 (BRI - ) >V REHEEF
EEE 20, 000 20, 000 0
HE 40, 000 40, 000 0
=E:zk 9, 580, 000 9, 380, 000 200, 000
BHEGEHERE 9, 200, 000 9, 000, 000 200, 000{10, 000F x 9204
BHEEHASE 100, 000 100, 000 0{2, 000H x 504
RitEAefiaE 280. 000 280, 000 0]200F x 9004 +—1£100, 000F
HEEEXHE 300, 000 300, 000 0
S4B LHES 300, 000 300. 000 O|RILEZREFSERGE
FiEH 500, 000 500, 000 0
FHEE 500. 000 500, 000 0
EETFBIHAE C 22, 605, 000 22,185, 000 420, 000
YR EEE A-C A 4,634,000 A 4,614,000 A 20,000
RTINS =48 B 8,000, 000 8, 000, 000 0
RE\BBINZEEE A+B-C 3, 366, 000 3, 386, 000 A 20,000




FR0EEMBREERFINSTNITFEE

1. BEFEIRA (B - M)
KB PR E 0FEETFEHE VEEFHE 1 &%
EXIA 23, 310, 000 22, 460, 000 850, 000
ZEE 22,510, 000 21,530, 000 980, 000
REE 500, 000 630,000] A 130,000
EKE 300, 000 300, 000 O|EHBFEHH
EXITHRAEEH A 23,310, 000 22, 460, 000 850, 000
2. BERFEHXTH (B - M)
KB FREE W0FEETFEHE VEEFHE 1 &%
ExE 20, 250, 000 19, 300, 000 950, 000
$REN 19, 100, 000 18, 360, 000 740, 000
REE 500, 000 600, 000] A 100, 000
KEELSE 100, 000 100, 000 0|XBESD
ERAE 0 240,000{ A 240,000
THEE 390, 000 0 390, 000| &AM EH 4L
I 3,200, 000 3, 160, 000 40, 000
ERE 710, 000 600, 000 110,000| = EHKRE
=88 660, 000 700,000 A 40, 000|EHArEEH
ez 50, 000 100,000 A 50,000(EB&K. AR, K&
) — 2 270, 000 400,000 A 130, 000|231 &—#&
BIEEWRE 350, 000 200, 000 150, 000 |#®A F 5k &
EEZ= 100, 000 100, 000 0
HERE 30, 000 30, 000 0
ELik 200, 000 200, 000 0|feIB T RERH
AROE 800, 000 800, 000 OEAR. HER
HE 30, 000 30, 000 0
Fie& 590, 000 590, 000 0
EXEIPXHE C 24,040, 000 23, 050, 000 990, 000
LN E%E A-C A 730,000 A 590,000{ A 140,000
ATEA#RBIR T =48 B 1, 000, 000 1,000, 000 0
REAIEHINZ ZE%E A+B-C 270, 000 410,000 A 140, 000




FH0EERT T HEGER

ER20E4F1B, S5 FEH214E3A318E T (Bfz - A)
BETEBIRIZOE
HE —fasst SEES &t
1. BEFERA
LBIA 14, 041, 000 0 14, 041, 000
ALL2URA 125, 000 0 125, 000
ELELEIA 12, 916, 000 0 12, 916, 000
BHSERBIA 1,000, 000 0 1,000, 000
EZIA 630, 000 23, 310, 000 23, 940, 000
BHESEEINA 430, 000 0 430, 000
FEE S EEEINA 200, 000 0 200, 000
SN 0 22,510, 000 22,510, 000
REE 0 500, 000 500, 000
EHE 0 300, 000 300, 000
LHRTELIRA 300, 000 0 300, 000
SRLE 300, 000 0 300, 000
BEISURA 950, 000 0 950, 000
EBNEENE 350, 000 0 350, 000
EESETHESE 600, 000 0 600, 000
HULA 2,050, 000 0 2,050, 000
S BURA 10, 000 0 10, 000
HEEEE 2, 040, 000 0 2, 040, 000
BAS 0 0 0
—fRIEAHILT 0 0 0
EEFBHINASH A 17,971, 000 23, 310, 000 41,281, 000
2. BEFEYRH
EEE 7,190, 000 20, 250, 000 27, 440, 000
CATE S 1,900, 000 0 1,900, 000
BECHEELE 1, 880, 000 0 1, 880, 000
A XIEEE 230, 000 0 230, 000
BERESEEL 350, 000 0 350, 000
SRERTELE 1,420, 000 0 1,420, 000
B ELEE 200, 000 0 200, 000
A EEE 1,210, 000 0 1,210, 000
iR g 0 20, 250, 000 20, 250, 000
EEE 5, 035, 000 3, 200, 000 8, 235, 000
HEEEE 1,220, 000 0 1,220, 000
EBE 1,150, 000 710, 000 1, 860, 000
EHE 2, 665, 000 1,690, 000 4, 355, 000
kAN 0 800, 000 800, 000
fiES 9, 580, 000 0 9, 580, 000
HEERERE 9, 200, 000 0 9, 200, 000
HESRARE 100, 000 0 100, 000
B #5 1 E-y =ik 280, 000 0 280, 000
HEEEXMH 300, 000 0 300, 000
Hb$as|LiES 300, 000 0 300, 000
S Lt 500, 000 590, 000 1,090, 000
T 500, 000 590, 000 1,090, 000
EXEMXHER C 22, 605, 000 24, 040, 000 46, 645, 000
LN EE  AC A 4,634,000 A 730,000 A 5,364,000
BRI EEE B 8, 000, 000 1,000, 000 9, 000, 000
REBBINZEE A+B-C 3, 366, 000 270, 000 3, 636, 000




